0 CONTENTS

ImaaeWriter Il

Apple Technical Procedures

ImageWriter Il

Section 1 — Basics

1.2
1.2
1.3
14
14
14
15
1.6
1.7
1.8
1.9
111
1.13
1.14
1.14
1.14
1.14

Introduction
New Features
Changed Features
Setup
Power On and Off
Load Paper
Remove Paper
Load the Ribbon Cartridge
Remove the Ribbon Cartridge
Self-Test
Configuration DIP Switches
Periodic Maintenance
Maintenance Schedule
Theory of Operation
Introduction
Before You Begin
Flow of Information

rev. Aua 87

Basics / 11



0 INTRODUCTION

The ImageWriter ® |1 printer is an improved version of the
ImageWriter. The following two lists discuss the new
features of the ImageWriter Il and its differences from the
original ImageWriter.

New Features
ImageWriter 1l

Multiple Fonts Draft—240 characters per second
Standard—2180 characters per second
Near Letter Quality—25 characters per second

Auto Paper Load Automatically loads paper when the form-feed button is
pressed.

Color Capability Provides color-option printing with a four-color ribbon.

Sheet Feeder Accepts a single-bin sheet feeder.

Option Card Will accept one of the two option cards available—the

AppleTalk card or the Expanded Buffer card.

MouseText The character set contains 32 special characters for use
on Apple Il computers.

Self-Identification The printer automatically determines its operational mode
by checking to see if there is a color ribbon, a sheet
feeder, or an option card installed.

New DIP Switches The Option Card Enable function is switch 2-4. The
Perforation Skip is switch 1-5.

1.2 / Basics rev. Aua 87 ImaaeWriter Il



Changed Features

Interface Port

7/8 Bit Protocol

Head Dot Diameter

Speed

Deselect Action

Tractor Feed

Disengagement

Paper Bail

Printing Area

Vertical Paper

ImaaeWriter Il

ImageWriter
RS-232

Hardware selection.
DIP switch 1-5.

Wire diameter is
.35 mm.

Print mode is
120 characters per
second.

The entire buffer is

printed before stopping.

printer stops.

Paper must be removed

from tractors.

Must be pulled away
from the platen to load

paper.

Requires a 3-line top
margin.

Feeds paper at 1.67
inches per second.

rev. Aua 87

ImageWriter I

RS-422/423

Software control only.
No DIP switch control.

Wire diameter is .30 mm.
Placement of dots is 50%
more accurate.

Print mode is

180 characters per second.

At the most, 2 more lines
are printed before the

If you select the friction-
feed mode, tractors are
automatically disengaged.

Automatically loads paper.

Entire length of paper.

Feeds paper at 4.0 inches
per second.

Basics / 13



o SETUP

Power On 1. Connect the power cord to the printer.

and Off
2. Plug the power cord into an electrical outlet.
3. Press the power switch on.

4. Check the switch panel. Make sure the power light
comes on.

5. Press the power switch off.

Load Paper 1. Make sure the power is off.

FIGURE 1

2. Pull the paper release lever forward (Figure 1, #1).

3. Lift up and remove the tractor cover (Figure 1, #2).

1.4/ Basics rev. Aua 87 ImaaeWriter Il



Remove Paper

ImaaeWriter Il

ILLUSTRATION NOT AVAILABLE

FIGURE 2

. Lift up the clamps on both forms tractors (Figure 2, #1).

. Make sure that the left forms tractor is positioned all

the way to the left. (To move the forms tractor, pull the
tractor release lever [Figure 2, #2] forward.) Lock the
forms tractor in place by pushing back the tractor -
release lever.

. Place the paper over the forms tractor pins. If the

paper doesn't line up with the pins, move the right
forms tractor until it does. Lock the right forms tractor
in place.

. Push down the clamps on both of the forms tractors.
. Turn the platen knob until the paper comes through.

. Put the back cover on.

. Make sure the power is off.

. Check to be sure the release lever is set to tractor

feed.

. Turn the platen knob and back the paper out.

rev. Aua 87 Basics / 15



Load the 1. Make sure the power is off.
Ribbon Cartridge

FIGURE 3

2. Lift up and remove the paper cover (Figure 3, #1).
3. Get aribbon cartridge.

4. Place the cartridge on the ribbon plate.

FIGURE 4

5. Push down on the cartridge until it snaps into place
(see Figure 4, #2).

1.6 / Basics rev. Aua 87 ImaaeWriter Il



FIGURE 5

6. On the cartridge, turn the knob (see Figure 5, #1)
clockwise until you hear it "click" and the ribbon is taut.

7. Replace the paper cover.
Note : Be sure to replace the paper cover before

attempting to operate the printer. The printer will not
print without the paper cover in place.

Remove the 1. Make sure the power is off.
Ribbon Cartridge
2. Lift up and remove the paper cover (Figure 3, #1).

3. While pushing down on the cartridge latch arms
(Figure 4, #1), lift up the cartridge (Figure 4, #2).

ImaaeWriter Il rev. Aua 87 Basics / 17



0 SELF-TEST

1.8/ Basics

. Make sure the power is off.
. Load the paper.

. Hold down the form-feed button while you press the

on/off button; then release both buttons.

The first part of the printout shows the ROM revision
number, the DIP switch settings, and whether an
option card is installed. Then the printer prints the
character set continuously. (If you are using a colored
ribbon, the printer alternates the color of each line.)

If you want to test the printer in all print quality modes
(draft, normal, and NLQ) continue with the following
steps. If not, skip to step 7.

. While the printer is printing the character set, press the

line feed button to stop the printing.

. Use the print quality button to select the desired print

quality mode (if necessary, refer to the owner's
manual for complete instructions).

. Press the select button to resume printing the

character set. The printer continues printing in the
previous print quality mode for another two or three
lines and then changes to the newly selected print
quality mode.

. To end the self-test, turn the power off.

Note : If you press the select button during power-up,
the ImageWriter prints a hexadecimal dump. If this
occurs, power the ImageWriter off and then back on.
The printer will power up in the proper mode.

rev. May 91 ImageWriter 11



0 CONFIGURATION DIP SWITCHES

Configuration DIP switches provide variations in the ways
the printer may be operated. For additional information
on switch settings, refer to the Peripheral Interface Guide .

Materials Required Jeweler's flatblade screwdriver
Setting the 1. Make sure the power is off.
Switches

2. Remove the paper cover.

FIGURE 6

3. Slide the carrier all the way to the right
(Figure 6, #1).

4. Locate switches SW 1 and SW 2 (Figure 6, #2).
Note: SW 2-5 and SW 2-6 are used only when

performing the firing hammer adjustment (refer to
Section 4, Adjustments).

ImaaeWriter Il rev. Aua 87 Basics / 19



5. Use a small screwdriver to move the switch handles
as desired.

6. Replace the paper cover.

7. Run the self-test.

1.10 / Basics rev. Aua 87 ImaaeWriter Il



o PERIODIC MAINTENANCE
Clean the printer as often as required. Lubricate it once a
year, or more often if it is being used heavily. To perform
maintenance tasks:
1. Make sure the power is off.
2. Remove the tractor cover and the paper cover.
3. Remove the paper and ribbon cartridge.
Note : For the next two steps, refer to Section 3, Take -
Apart, for complete instructions on removing the
carrier assembly and carrier shaft.

4. Using gauze or absorbent cotton, wipe the dirt off of
the carrier shatft.

5. Apply four drops of tellus lubrication oil to each of the
felt wipers, which are located under the carrier
assembly.

TOP
COVER

OPERATION PANEL

FIGURE 7

6. Find the detector plate. It is on the right side of the
printer, hidden just below the on/off switch (Figure 7,
#1).

7. Use a brush to remove any paper dust (Figure 7, #2).

ImaaeWriter Il rev. Aua 87 Basics / 111



1.12 / Basics

10.

FIGURE 8

Clean the dot head (Figure 8, #1) with a lint-free cloth
and a low-residue cleaner such as isopropyl alcohol
or Freon.

Replace the ribbon cartridge.

Perform the self-test to verify optimum printing
performance.

rev. Aua 87 ImaaeWriter Il



Maintenance The following table summarizes the manufacturer's
Schedule recommended maintenance intervals:

ImaaeWriter Il rev. Aua 87 Basics / 113



o THEORY OF OPERATION

Introduction Troubleshooting can be approached in different ways;
Apple usually recommends both module swapping and
logical troubleshooting. But random module swapping is
impractical for printers because they have so many parts.
So, to troubleshoot the ImageWriter Il, you will usually
want to use the logical troubleshooting method. A
description and diagram of the flow of information in the
ImageWriter 1l are given below as aids to this method.

Before You Begin Before you begin to troubleshoot the ImageWriter 11,
attempt to run the self-test before you connect the printer
to a computer. Then, if the self-test does not run correctly,
you can observe where it stops working. Knowing the
flow of information, you will be able to isolate the problem
to the faulty module.

Flow of Information Figure 9 is a block diagram of an ImageWriter Il printer.
The numbers on the diagram indicate the order in which
the self-test takes place and correspond to the following
descriptions.

1. The AC power cord is plugged into a wall socket and
into the power inlet on the right support leg.

2. The power switch on the operation panel is turned on
and the form feed switch is held down. The AC
voltage and current are passed through the filter to
reduce radio frequency interference (RFI) to FCC
standards. The 120 volts are sent to the transformer,
where they are reduced to 40 volts.

3. The 40 volts are sent to the drive PCB. Here the
voltage is broken down and sent to the various parts
that need it. The drive PCB contains the power supply
and all of the motor and print head drive circuitry. The
drive circuitry controls the firing of the hammer and
limits the current to the print head.

1.14 / Basics rev. Aua 87 ImaaeWriter Il



4. The necessary voltages are sent to the logic board,
and the startup sequence (stored in ROM on the logic
board) is accessed. The logic board sends startup
instructions to the drive PCB.

5. The drive PCB accesses the carrier motor. The carrier
motor centers the carrier assembly and moves it back
and forth when printing.

6. The form-feed switch is released, notifying the main
CPU board that the self-test is to be performed.

7. The main CPU board notifies the drive PCB that the
self-test is to be performed. The drive PCB notifies the
carrier motor.

8. The drive PCB takes the self-test information and
sends it to the print head PCB mounted underneath
the carrier assembly.

9. The print head PCB activates the print head and the

self-test is performed. The printer will continue to run
the self-test until powered off.

ILLUSTRATION NOT AVAILABLE

FIGURE 9

ImaaeWriter Il rev. Aua 87 Basics / 115



Apple Technical Procedures

ImageWriter I

Section 2 — Take-Apart

0 CONTENTS

2.2

24

2.6

2.8

2.10
2.12
2.14
2.18
2.20
2.22
2.24
2.26
2.31
2.32
2.33
2.34
2.36
2.38
2.40
2.46
2.52
2.54
2.56
2.58

Top Cover

Operation Panel

Option Card

Main CPU PCB

Print Head

Color Ribbon Assembly
Ribbon Wire and Ribbon Assembly
Flexible Ribbon Cable
Ribbon Motor Assembly
Left Support Leg

Right Support Leg

Bottom Cover

Fuses

Transformer

Drive PCB

Mechanical Assembly

Noise Filter PCB Assembly
Carrier Motor and Carrier Belt
Carrier Block Assembly and Print Head PCB
Platen and Platen Assembly
Paper-Feed Motor

Paper Guide

Paper-Out Sensor

Tractor Assembly

Note: To keep track of where cables and connectors go
during a take-apart procedure, label them using
numbered adhesive dots.

WARNING: For all take-apart procedures, the printer
should be off and the AC power cord should be
disconnected.

ImageWriter I

rev. Nov 88 Take-Apart /2.1



o TOP COVER

Materials Required #2 Phillips screwdriver

Remove 1. Remove the paper cover and ribbon cartridge.

2. Push the carrier assembly to the far left.

=

! ’»@ \_

FIGURE 1

3. Loosen the two screws (Figure 1, #1) as far as they
will go.

4. Place your fingers over the edge designated by Figure
1, #2, and place your thumbs at the location
designated by Figure 1, #3. Gently pull the cover up
and toward you until it snaps free. Do not yet remove
the cover.

5. Lift the right side of the cover to gain access to the
connector.

2.2 |/ Take-Apart rev. Aug 87 ImageWriter 11



Replace

ImageWriter I

. Unplug the connector that runs from the control panel

board to the main CPU PC board. Remove the
connector from the main CPU PC board.

. Remove the top cover.

. Push the carrier assembly to the left.

. Lay the cover in place and lift the right side. Plug in

the connector to the main CPU PC board.

. Tilt the cover toward you till the front edge is in place.

. Push down the cover. You will hear a "snap" as it

goes into place.

. Tighten the two screws (Figure 1, #1).
. Replace the ribbon cartridge and the paper cover.

. Perform the self-test.

rev. Nov 88 Take-Apart/ 2.3



0 OPERATION PANEL
Materials Required #2 Phillips screwdriver
Small Phillips screwdriver
Remove 1. Remove the paper cover.
2. Remove the top cover.

3. Remove the four screws holding the operation panel
(Figure 2, #1).

4. Lift the operation panel from the top cover. Remove
the power button and spring (Figure 2, #2).

5. Unplug the cable from the switch assembly panel
(Figure 2, #3).

2.4 | Take-Apart rev. Aug 87 ImageWriter 11



FIGURE 2

Take-Apart/ 25

rev. Nov 88

ImageWriter I



Replace

2.6 / Take-Apart

. Place the top cover upside down.

. Connect the power button and spring (Figure 2,

#2) by placing the coiled half of the spring over the
outer-corner screw mount, and over the button in the
top opening on the cover.

. Plug the cable into the operation panel

(Figure 2, #3).

. Line up the screw mounts with the holes on the panel,

switch side down.

. Replace the four screws (Figure 2, #1).
. Replace the top cover.
. Replace the paper cover.

. Perform the self-test.

rev. Aug 87 ImageWriter 11



o0 OPTION CARD

Materials Required Small pair of curved needlenose pliers

Remove 1. Remove the paper cover.
2. Remove the top cover.
3. Squeeze the plastic retainers (see Figure 3) together
one at a time with the pliers, and gently lift the corners
of the option card.

4. Lift out the option card.

© i ®

RETAINERS ©)
OPTION CARD  —B
BOTTOM VIEW
OF OPTION

o CARD

MAINCPUPCB g7~

FIGURE 3

ImageWriter 11 rev. Nov 88 Take-Apart /2.7



Replace 1. Position the option card above the plastic retainers,
and line up the connector from the option board with
the one on the main CPU PCB (see Figure 3).
2. Push down the option card. It will snap into place.
3. Replace the top cover.
4. Replace the paper cover.

5. Perform the self-test.

2.8 / Take-Apart rev. Aug 87 ImageWriter 11



o MAIN CPU PCB
There are two main CPU PCBs available for the
ImageWriter Il. For information on identification and
compatibility, refer to Section 5, Additional Procedures.

Materials Required Magnetized, #2 Phillips screwdriver

Remove 1. Remove the paper cover.

2. Remove the top cover.

3. Remove option card, if installed.

® ®
AL —

FIGURE 4

4. Remove the three connectors. (Figure 4, #1 isatwo -
pin; #2 is an 8-pin; and #3 is a 50-pin ribbon cable.)

a) The 50-pin connector is difficult to remove. Use a
small screwdriver and gently pry it loose from one
side; then gently rock the connector back and forth
until it comes free.

b) On new main CPU boards, the connector with the
tabs is used to make it easier to remove.

ImageWriter 11 rev. Nov 88 Take-Apart /2.9



Replace

2.10 / Take-Apart

. Remove the five screws (Figure 4, #4).

. Remove the sixth screw, which holds the grounding

strap (Figure 4, #5).

. Tilt the front half of the board up. Lift the board out of

the printer.

. Tilt the front half of the board up. Lower the board

onto the screw mounts.

. Install the five screws (Figure 4, #4).

. Install the sixth screw, which holds the grounding

strap (Figure 4, #5).

. Plug in the three connectors (Figure 4, #1, #2,

and #3).

. Install the option card, if included.
. Replace the top cover.
. Replace the paper cover.

. Perform the self-test.

rev. Aug 87 ImageWriter 11



o0 PRINT HEAD

Remove

ImageWriter I

1. Remove paper cover.

2. Remove ribbon cartridge.

3. Locate the print head (Figure 5, #1).

4. Gently push aside the white clamp (Figure 5, #2).

Grasp the print head and slowly lift it straight up and
out of the connector.

FIGURE 5

rev. Nov 88 Take-Apart /211



Replace

2.12 |/ Take-Apart

. Line up the metal connector "fingers" of the print head

with the connector (Figure 5, #3).

. Align the front oblong portion so that it goes between

the clear plastic card holder covering the platen
(Figure 5, #4) and the print-head clamp (Figure 5, #2).
The print-head clamp goes over the indentations on
the print head (Figure 5, #5).

. Gently push the print head down until it is firmly

seated.

. Replace the ribbon cartridge.
. Replace the paper cover.

. Perform the self-test.

rev. Aug 87 ImageWriter 11



0 COLOR RIBBON ASSEMBLY

Materials Required

Remove

Replace

ImageWriter I

Small needlenose pliers

1. Remove the paper cover.

2. Remove the top cover.

SPRING IS

LOCATED UNDER
RIBBON CAM

FIGURE 6

3. Remove the lock nut (Figure 6, #1).

4. Remove the retaining clip (Figure 6, #2) with a pair of
small needlenose pliers, and take off the two washers.

5. Lift off the ribbon cam (Figure 6, #3), turning it until it is
free from the ribbon plate.

6. Remove the adjustment nut (Figure 6, #4).

7. Remove the spring (Figure 6, #5).

1. Replace the spring (Figure 6, #5).

rev. Nov 88 Take-Apart /213



2. Replace the adjustment nut (Figure 6, #4).

3. Slide on the ribbon cam (Figure 6, #3) so that the
ridge on the cam is between the two tabs on the
ribbon plate. Improper positioning of the cam can
cause poor-quality printing or no printout.

WARNING: Verify that the two tabs are riding on the
ridge. Improper positioning of the cam can cause poor
quality or no printout.

4. Replace the two washers and the retaining clip
(Figure 6, #2).

5. Replace the lock nut (Figure 6, #1).

6. Perform the color printing adjustment. Refer to
Section 4, Adjustments.

2.14 | Take-Apart rev. Aug 87 ImageWriter 11



o RIBBON WIRE AND RIBBON ASSEMBLY

Materials Required #3 jeweler's flathead screwdrivers

Remove 1. Remove paper cover.
2. Remove top cover.

3. Remove ribbon cartridge.

‘@* | RIGHT END IS
MIRROR IMAGE

I
. |_— OF LEFT SIDE

= = Lt
o) n
- 1]

o N

/

LEFT END,
SIDE VIEW

LEFT END,
FRONT VIEW

LEFT END,
FRONT VIEW

FIGURE 7

4. Locate the holes on the sides of the carrier assembly
(Figure 7, #1).

5. Gently insert a jeweler's flathead screwdriver into the
hole (Figure 7, #1). The black catch will come out
(Figure 7, #2). Gently pry the catch upward at a slight
angle with another jeweler's flathead screwdriver.

IMPORTANT: Do not use force when removing the black
plastic catches or you will break them.

ImageWriter 11 rev. Nov 88 Take-Apart /215



2.16 / Take-Apart

10.

11.

12.

13.

14.

Move the small catch to the top (Figure 7, #3). Gently
pull the plastic piece straight out.

Repeat for the right side. The catches are not
interchangeable.

Remove the color ribbon selector wires from the
plastic clamp (Figure 8, #1) by gently prying the clamp
away from the carrier assembly.

Using a jeweler's flathead screwdriver, push the tabs
toward the center of the ribbon plate
(Figure 8, #2).

Slowly lift the entire plate up. If the ribbon wire (Figure
7, #5) comes with it, repeat step 9. The gears are
located under the plate.

Not Available
FIGURE 8

Lay the ribbon plate upside down to remove the color
ribbon detect switch (Figure 8, #3). Do not remove the
switch unless replacing the ribbon plate.

Insert a jeweler's flathead screwdriver under the tab
on each side of the detect switch (Figure 8, #4).

Gently push the switch down with a third jeweler's
flathead screwdriver.

Remove the wires from the retainers on the front of the
ribbon plate.

rev. Aug 87 ImageWriter 11



15. Put the ribbon plate aside.

16. Disconnect and remove the ribbon wire (Figure 9, #1).

FIGURE 9

Replace 1. Rewrap the ribbon wire as shown in Figure 9. Be sure
the wire crosses at the front of the gear. Verify that the
spring under the spindle gear is in position before you
continue.

FIGURE 10

2. Gently position and push the ribbon-detect switch into
the top of the ribbon plate (Figure 10, #3).

3. Reinstall the wires under the retainers and the bracket
(Figure 10, #1).

ImageWriter 11 rev. Nov 88 Take-Apart /217



2.18 / Take-Apart

4. Position the ribbon plate so that the front two tabs on
the side have the ridge of the color ribbon assembly
between them. Line up the tabs on the gear plate with
the top of the ribbon plate (Figure 10, #2), and push
the ribbon plate down. It will click into position.

WARNING: Verify that the two tabs are riding on the
ridge of the color ribbon assembly. If they are not, you
may get poor print quality or no printout at all.

5. Replace the two small plastic pieces with the catches
on them. Slide the piece for the left side (Figure 10,
#4) over the left side of the ribbon plate and carrier
assembly. Rotate the piece until the black catch pops
into the hole on the carrier assembly (Figure 10, #5).
Repeat this step for the other piece on the right side.

6. Replace the ribbon cartridge.

7. Replace the top cover.

8. Replace the paper cover.

9. Perform the self-test.

rev. Aug 87 ImageWriter 11



o FLEXIBLE RIBBON CABLE

Materials Required 1/8-inch flathead screwdriver

Remove 1. Remove the ribbon wire and ribbon assembly. There
are two kinds of ribbon retainers:

a) One is held in position by a screw
(Figure 12, #1).

b) The other is held by a metal tab that is part of the
frame (Figure 12, #3).

The following procedures refer to screw-fastened
retainers. If you are working with the tab-fastened
kind, ignore references to the screw. (The tab -
fastened retainer can simply be pulled free and
removed.)

2. Insert the flathead screwdriver into the notch on the
flexible cable connector (Figure 11, #1). Gently turn
the screwdriver, and the connector will pop out about
1/4 inch.

CAUTION: Do not force the flexible cable to come loose
or you will damage the cable.

3. Remove the flexible cable from the connector.

4. Push the carriage assembly to the far left. Remove the
screw that holds the ribbon retainer in place (Figure
12, #1).

5. Insert the flathead screwdriver in the notch on the
connector on the drive PCB (Figure 12, #2). Gently
turn the screwdriver, and the connector will pop out
about 1/4 inch.

6. Remove the flexible cable from the connector and set
it aside.

2.18/ Take-Apart rev. Aug 87 ImageWriter |1



CARRIAGE ASSEMBLY
WITH RIBBON WIRE AND ASSEMBLY REMOVED

DRIVE BELT ' I_|—||Z

FIGURE 11

FIGURE 12

Replace 1. Insert the flexible cable in the connector on the drive
PCB (Figure 12, #2). Push the connector in.

2. Replace the ribbon retainer and the screw that holds
down the retainer for the flexible cable
(Figure 12, #1).

3. Push the carriage assembly to the middle. Insert the
other end of the flexible cable in the connector (Figure
11, #1). Push the connector in.

4. Replace the ribbon wire and the ribbon assembly.

5. Perform the self-test.

ImageWriter 11 rev. Aug 87 Take-Apart /219



o0 RIBBON MOTOR ASSEMBLY

Materials Required Jeweler's flathead screwdriver
#2 Phillips screwdriver, magnetized

Remove 1. Remove the ribbon wire and the ribbon assembly.

RIBBON DETECT
SWITCH

FIGURE 13

2. Remove the two screws that hold the motor in place
(Figure 13, #1).

2.20/ Take-Apart rev. Aug 87 ImageWriter |1



Replace

ImageWriter I

. Position the jeweler's flathead screwdriver behind the

small black plastic extension as shown in Figure 13,
#2. Gently pry the motor out. Note the position of the
connector and the wires on the ribbon motor
assembly.

. Slide the ribbon motor into position (Figure 13).

. Replace the two screws that hold the motor in place

(Figure 13, #1).

. Replace the ribbon wire and the ribbon assembly.

. Perform the self-test.

rev. Aug 87 Take-Apart /221



o LEFT SUPPORT LEG

Materials Required #2 Phillips screwdriver, magnetized

Remove 1. Remove the paper cover.

2. Turn the machine upside down.

LEFT LEG

UNDERSIDE
OF LEFT LEG

o M

FIGURE 14

3. Remove the Phillips screw at the base of the left leg
(Figure 14, #1).

4. Turn the machine right side up.
5. The interface cable connector slides in and out of two
notches on the inside of the leg. Push down on the

leg and slide it off the plastic frame. The interface
connector will slide off as the leg is removed.

2.22 ] Take-Apart rev. Aug 87 ImageWriter |1



Replace

ImageWriter I

. With the machine right side up, slide the interface

connector into the notches on the inside of the leg.

. Push the leg into position.
. Pull upward on the leg to lock it in place.

. Turn the printer upside down and replace the Phillips

screw (Figure 14, #1).

. Replace the paper cover.

. Perform the self-test.

rev. Aug 87 Take-Apart / 223



0 RIGHT SUPPORT LEG

Materials Required #2 Phillips screwdriver, magnetized

Remove 1. Remove the paper cover.
2. Turn the machine upside down.

3. Remove the Phillips screw at the base of the right leg
(Figure 15, #1).

4. Turn the machine right side up. Grasp the platen knob
and gently pull it off (Figure 15, #2).

5. Slide the paper release lever off (Figure 15, #3).

6. The AC power inlet connector is located inside and is
not physically mounted to this leg. Push down and
slide the right leg off the plastic frame.

PAPER
RELEASE

PLATEN
KNOB p

UNDERSIDE
OF RIGHT LEG

RIGHT LEG

R~

FIGURE 15

2.24 | Take-Apart rev. Aug 87 ImageWriter |1



Replace 1. With the printer right side up, slide the AC connector
into the notches. The wires on the AC connector are
short: be careful not to break them off.

2. Push the leg into position.
3. Pull upward on the leg to lock it in place.
4. Slide the paper release lever on (Figure 15, #3).

5. Line up the platen knob and push it into position
(Figure 15, #2).

6. Turn the machine upside down and replace the
Phillips screw (Figure 15, #1).

7. Replace the paper cover.

8. Perform the self-test.

ImageWriter 11 rev. Aug 87 Take-Apart / 225



0 BOTTOM COVER

Materials Required #2 Phillips screwdriver, magnetized
Small Phillips screwdriver, magnetized
Flathead screwdriver

Remove 1. Remove the paper cover.

2. Remove the tractor cover.

3. Remove the left and right legs.

AC
CONNECTOR

FILTER
PCB

FIGURE 16

4. Remove the two screws located under the tractor
cover (Figure 16, #1).

5. Remove the grounding connector from the spade on
the drive PCB (Figure 16, #2).

6. Remove the two grounding screws, which hold three
grounding wires, located in the right support leg
(Figure 16, #3).

7. Push the carriage assembly to the far left. Remove the
flexible cable from the drive PCB.

8. Turn the printer upside down and loosen the four
screws as far as they will go (Figure 17, #1).

2.26/ Take-Apart rev. Aug 87 ImageWriter |1



IMPORTANT: The power supply assembly has four
cable connectors and one plug connector, all of which
must be disconnected before you remove the bottom

cover.
N\ “
® (1 — ® —
‘V:v' o \ ":", v \
| \ f\
e)
FIGURE 17

9. Using a small flathead screwdriver, gently pry up the
left side of the bottom cover. Disconnect the three
connectors (Figure 18, #1) in one of two ways:

a) Some cables are long enough to allow you to lift
the left side of the access cover about 3 inches—
until you can reach the three connectors located
on that side of the board and disconnect them.

b) Using a pair of curved needlenose pliers, access
the connectors through the left support leg and
gently disconnect them.

10. Lift the front half of the bottom cover, and disconnect
the 50-pin ribbon cable. (Figure 18, #2).

The 50-pin connector is difficult to remove. Use a
small screwdriver to gently pry it loose from one side;
then gently rock the connector back and forth until it
comes free.

ImageWriter 11 rev. Aug 87 Take-Apart / 227



FIGURE 18

2.28/ Take-Apart rev. Aug 87 ImageWriter |1



11. Carefully lift the bottom cover from the back and flip
the bottom cover toward the front.

12. Disconnect the plug cable running from the right leg to
the transformer on the bottom cover (Figure 19, #2).

13. Remove the bottom cover.

o T T ©

FIGURE 19

Replace 1. Place the bottom cover face up on the bottom of the
printer.

2. Connect the plug cable running from the right leg to
the bottom cover (Figure 19, #2).

3. Lift the rear portion of the bottom cover, and connect
the 50-pin ribbon cable (Figure 19, #4).

4. Route the grounding strap from the transformer into
the right support leg.

5. Tilt the bottom cover toward you and lower it into

place. Check all the wires and cables: be sure they
are not crimped and are correctly routed.

ImageWriter 11 rev. Aug 87 Take-Apart / 229



6. Connect the three cables on the left side

(Figure 19, #3). There are two ways to connect the
three cables:

a) Some cables are long enough to allow you to lift
the left side of the access cover about 3 inches—
until you can reach the three connectors located
on that side of the board and connect them.

b) Using a pair of curved needlenose pliers, access
the three connectors through the left support leg,
and then gently connect them with the pliers.

2.30/ Take-Apart

FIGURE 20

. Replace the four screws that hold the bottom cover in

place (Figure 20, #1).

. Turn the printer right side up.

. Connect the grounding connector to the spade on the

corner of the drive PCB (Figure 19, #1).

rev. Aug 87 ImageWriter 11



10.

11.

12.

13.
14.

15.

Replace the two screws (Figure 21, #1).

Reconnect the three grounding straps and two screws
into the right support leg (Figure 21, #2).

Push the carrier assembly to the far left and connect
the flexible cable to the drive PCB.

Replace the left and right support legs.
Replace the tractor cover.

Replace the paper cover and run the self-test.

AC CONNECTOR

e

FILTER

ImageWriter I

PCB

FIGURE 21

rev. Aug 87 Take-Apart / 231



o FUSES
Materials Required Fuse puller

Digital multimeter

There are two fuses on the drive board on the bottom
cover. Check the fuses to verify that they are good. If a
fuse is bad, replace it.
Remove 1. Remove the bottom cover.
2. Examine the fuses for burn marks. If possible, check
them with a multimeter (refer to Section 3,
Troubleshooting).

Fuse 1 (Figure 22, #1) is a 1-amp fuse.

Fuse 2 (Figure 22, #2) is a 5-amp fuse.

==
G @ﬂ | Ty

AN

FIGURE 22

Replace 1. Replace any defective fuses.

2. Replace the bottom cover.

2.32/ Take-Apart rev. Aug 87 ImageWriter |1



o0 TRANSFORMER

Materials Required #2 Phillips screwdriver

Remove 1. Remove the bottom cover.
2. Disconnect the cable to the drive PCB (Figure 23, #1).

3. Remove the three screws (Figure 23, #2).

4. Lift out the transformer.

 TRANSFORMER

i O

DRIVE PCB @ @'
!
[

)

FIGURE 23

Replace 1. Place the transformer on the bottom cover so that the
screw holes line up.

2. Replace the three screws (Figure 23, #2).
3. Connect the cable to the drive PCB (Figure 23, #1).
4. Replace the bottom cover.

5. Perform the self-test.

ImageWriter I rev. Aug 87 Take-Apart / 233



o DRIVE PCB

Material Required

Remove

Replace

2.34/ Take-Apart

#2 Phillips screwdriver

. Remove the bottom cover.

. Disconnect the cable from the transformer

(Figure 24, #1).

. Remove the three screws from the drive PCB (Figure

24, #2).

. Lift out the drive PCB.

TRANSFORMER

FIGURE 24

. Place the drive PCB on the bottom cover so the screw

holes line up.

. Replace the three screws (Figure 24, #2).

. Connect the cable from the transformer

(Figure 24, #1).

. Replace the bottom cover.

. Perform the self-test.

rev. Aug 87 ImageWriter 11



0 MECHANICAL ASSEMBLY
Materials Required #2 Phillips screwdriver, magnetized
Note: The mechanical assembly is not available as a
replacement part.
Remove 1. Remove the paper cover.
2. Remove the tractor cover.
3. Remove the top cover.
4. Remove the print head.
5. Remove the logic board.
6. Remove the left and right legs.

7. Remove the bottom cover.

FIGURE 25

8. Remove the two mounting screws (Figure 25, #1).

Note: If the mechanical assembly has a third
mounting screw (Figure 25, #3), remove it also.

ImageWriter 11 rev. Mar 88 Take-Apart / 235



9. Lift the right side of the mechanical assembly, and
disconnect the two plug connectors (Figure 25, #2).

10. Lift the entire mechanical assembly from the plastic
case.

Replace 1. Position the 50-pin cable on the bottom of the plastic
case. Place the noise filter PCB 